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Jim Carberry, geography
teacher at the Institute
for over 15 years, advises
students to be aware of
what is essential

Introduction

The aim of the following articles is to pro-
vide amethod which, when used in conjunc-
tion with your own class notes and text-
book, will help you to fulfil your full poten-
tial in geography. It is to enable you to ob-
tain the highest number of marks that you
caninyour higher level geography exam.

All of the articles are written from an ex-
amination point of view so it’s not intended
to replace your course textbook but to sup-
plement it for revision purposes. There are
certain key elements that examiners have
to identify in your responses to the ques-
tions that are set. Therefore it follows that
there are certain core areas of the course
material that you must know and which
must be included in your answers.

The main aim of these articles is to help
you to become aware of what is essential
and what is supplemental in preparing for
your geography examination.

The blue line indicates the location of a trail X-Y on the Ordnance Survey extract below.
A cross-section of the trail X-Y is also shown.

RTINSO (4

Short questions
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Getting the lie of

Written paper part1

Short answer questions

I 80 marks.
M Time: 30 minutes.
M Thereare12 shortquestions asked.
I Each shortquestionis worth eight marks.
I Attemptall 12 questions as the examiner will selectyour
best10answers.
I The short questions cover awide range of geographical
skillsincluding the reading and interpreting of:
—Ordnance survey maps
—Aerial photographs
—Graphs and statistics
—Satellite photographs
—Weather charts.
M Usually three of the short questions are from core unit1
(physical environment) and one of the short questions is
from core unit 2 (regional geography).

NOTE ON THESHORT QUESTION SECTION

Don'ttake the short question section for granted. Inthe last
twoyears there was more information and greater detail
required inthe answers. You mustrevise on atopic by topic
basis and practise answering pastexamination questions.

EXAMPLES FROMLEAVING CERT 2013
Examplel:

European economy

(Seeimage belowright)

Example 2:
Map skills—cross section
(Seeimage below)

There are
certain
core areas
of the
course
material
that you
must
know

European Economy

the land

Ata glance - the exam paper

The total number of marks
for geography at Leaving
Cert higher level is 500. This
is divided into two sections:
geographical investigation
and the written paper.

GEOGRAPHICAL
INVESTIGATION

(100 marks)

M The geographical investi-
gation is part of the core
area of the course and it is
compulsory.

M You must complete a
geographical investigation
from a list of topics issued
by the State Examination
Commission every year and
the report must be present-
ed for assessment.

M The geographical investi-
gation is worth 100 marks or
20 per cent of the total
marks for geography.

WRITTEN PAPER

400 marks

M The geography paper is
two hours and fifty minutes
long. Five full questions
have to be answered.

B Each question is worth

80 marks.

Part 1: short questions

M Answer 10 out of 12 short
questions (attempt all 12 —
your best 10 will be accept-
ed)

M Suggested time: 30
minutes.

Part 2: Structured and
essay questions:

Section 1

B You must answer one
question from a choice of
three in core unit 1.

B You must answer one
guestion from a choice of
three in core unit 2.

Section 2

M You must answer one
question from a choice of
three in your selected
elective (there are two
electives).

M You must answer one
guestion from a choice of
three in your selected option
(there are four options)

M Suggested time: 35
minutes for each question.

Ordnance Survey extract showing trail X-Y
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Examine the map of Europe above showing public debt as a percentage of Gross
Domestic Product (GDP) for 2011 (estimate) and state whether each of the following
statements are true or false by ticking the correct box.

Examine the Ordnance Survey extract and cross-section, and the Ordnance Survey legend (i) Four EU member states had a public debt of over 100% of GDP in 2011.
accompanying this paper.
True IZI False I:I
Match each of the letters A, B, C and D on the cross-section to its correct description in
the table below. (i)  Portugal had a public debt of between 80-99% of GDP in 2011,
Description Letter True \:I False Iz
U-Shaped valley B (iii)  Poland and Denmark had the same public debt as a percentage of GDP in 2011.
V-Shaped valley D True @ False I:I
Third class road C (iv)  Spain, Austria and Hungary had a public debt of 60-79% of GDP in 2011.
Concave slope A True ‘Z False I:I
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Core unit1l

Patterns and processes in the physical environment

M Therearethree questions asked.
M Youmustanswer one question.
M Eachquestionis worth 80 marks.
M Timing: 35 minutes.

M The questions will be divided into three parts:

—PartA:20marks nineminutes
—PartB:30marks 13minutes
—PartC:30marks 13minutes

M Ineachanswer, every Significant Relevant Point (SRP) is worth two marks.

Whatis a Significant Relevant Point (SRP)?
M Asignificantrelevant pointis a single piece of factual information directly related to the

stated topic. Usually an SRPis one or two sentences long.
B An SRP maybe adefinition of ageographical term or process.

M Labelled diagrams are counted as SRPs, especially in physical geography answers.

Topicl:
Landform development

This topic has been asked every year from
2006 to 2013 inclusive.

Typical question

Examine, with the aid of alabelled diagram
or diagrams, the processes that have led to
the formation of any one Irish landform of
erosion or deposition of your choice.

(30 marks)

Typicalmarking scheme

B Named landform: two marks.

M Labelled diagram: four marks (graded
4/2/0).

M Explanation: 12 SRPs.

M Credit extra relevant information on la-
belled diagram for two SRPs.

M Diagram without labelling: zero marks.
M Credit two SRPs for description of land-
form when thatis all thatis given.

M Allow one SRP for example from expla-
nation.

Sample answer —Waterfall

Landform of river action: Waterfall.
Example: Aasleagh Falls on the River Err-
iff, Co Mayo.

Formation: A waterfallis a vertical or near
vertical fall of water on the bed of a river
channel.Waterfalls can form in various
ways but the main way a river forms a wa-
terfall is when differences in rock hardness
occur on the channel bed. The waterfall
will form where a layer of hard rock lies
across the river-bed in a horizontal posi-
tion and there is a layer of weaker rock
downstream of the harder rock.

This uneven hardness of bedrock leads
to different rates of erosion (differential
erosion) as the softer rock is eroded at a
faster rate than the hard rock layer.The
softer rock is eroded by river erosional pro-
cesses, especially hydraulic action. Hydrau-
lic action is the force of moving water and
this water can break up solid rock where
there are cracks(joints) in the weaker rock.

The softer rockis also eroded by the pro-
cess of abrasion where the river uses its
load to scrape against the weaker rock and
deepen the riverbed. As the volume and
speed of the river increases, especially af-
ter heavy rain or melting snow, the rate of
vertical erosion increases.

Ifthe minerals of the softer rock are sol-
uble (calcium carbonate in limestone, for
example) then the river’s water will dis-
solve the minerals by the process of solu-
tion.

Common errors

I Students failing to
answer the questions as
they are asked.

M Time is wasted on writing
plans which are then
ignored.

M There is a failure to
concentrate on the main
theme of the question.

Landfor:development
Patterns in the landscape and
the course of their formation

Top: Aasleagh Falls, River Erriff, Co Mayo; Above: Cliffs of
Moher, Co Clare Photographs: Getty

B Some students write
over-long introductions.

M Key instructions, eg
“explain”, “account for” are
ignored.

M Specific examples are not
given or are imprecise.

M Five full questions are not
answered.

As the erosion of the softer rock contin-
ues, the speed of the water increases as the
gradient of the riverbed becomes steeper.
Eventually this causes a vertical or near ver-
tical drop on the riverbed where the hard
rock ends and the softer rock begins—awa-
terfall has formed.

This vertical fall of water is often very
powerful and, as the falling water strikes
the softer rock on the river-bed, its erosive
power creates a deep pool of water on the
riverbed.

This poolis called a “plunge pool” and it
is then deepened by the processes of hy-
draulic action and abrasion over time as
the power of the water and the scraping of
the load against the riverbed combine to
erode the weaker rock.

As the falling water hits the plunge pool
some of the water splashes against the back

wall of the waterfall. If the back wall is com-
posed of soluble minerals they are dis-
solved by the process of solution. The
splashing back undercuts the base of the
waterfall and the soft rock crumbles. The
harder rock becomes unstable and eventu-
ally collapses under the influence of gravity
asithas nounderlying support.

The waterfall retreats upstream and
the process of retreat is called headward
erosion and often a steep-sided gorge is
formed.

Waves that break
close to the base of
the steep rock face

release the most
energy and cause the
maximum erosion

Sample answer —Cliffs

Landform of sea/marine action: Cliffs.
Example: Cliffs of Moher, Co Clare.
Formation: Cliffs are steep rock faces
formed in coastal areas by the processes of
sea/marine erosion. There are different
types of cliffs but active cliffs form when
the rock faces are vertical or near vertical
and waves break at their bases.

Cliffs form when destructive steep
waves crash against a steep coastline.
Waves that break close to the base of the
steeprock face release the most energy and
cause the maximum erosion. Destructive
waves have their greatest effect during
storms as their frequency (10-15 waves per
minute), their angle and shorter wave
length give them great erosional power.

These steep waves plunge over when
breaking and so their energy is concentrat-
edonasmallareaofrock. Ifthereisaweak-
ness in the rock face (joint or fault) looking
out to sea near the high water mark, the
waves erode an opening or notch in the
rock face. The first major sea erosional pro-
cessin the formation of a notch is hydraulic
action. The crushing force of the water in
each wave hits joints and faults and breaks
pieces of rock away. The notch is enlarged.

If air is trapped between breaking
waves and the rock face it is compressed



In association with THE INSTITUTE OF EDUCATION

EXAM TIMES 2014 PO5

and forced into cracks in the rocks. This
process is called compression and is fol-
lowed by decompression as the wave re-
treats. The processes of compression and
decompression enlarge the cracks in the
rocks.

The load carried by storm waves (boul-
ders, pebbles and sand) is thrown against
the notch and wears the rocks away. This
process of abrasion enlarges the notch. If
the rocks contain minerals which can dis-
solve in sea water then the process of solu-
tion occurs. For example, calcium carbon-
atein limestone is dissolved by the salty wa-
ter.

If the wave load remains at the notch
then the rate of erosion decreases but the
process of attrition, where the load is bro-
ken into smaller pieces by the waves, re-
moves the load and allows the waves to en-
large the notch. As the notch is enlarged,
the upper part is left unsupported and it is
often weakened by weathering processes
(carbonation for example). Eventually the
upper part of the notch collapses under the
influence of gravity as the weight of the un-
supported rockis so great.

A steep rock face called a cliff is formed
and, as the sea erosional processes contin-
ue, the cliff retreats inland and increases in
height.Asthe cliff retreats, a wave-cut plat-
formis formed at it base. This is often alev-
el or near-level stretch of rock at the base of
the cliff and is seen at low water mark.

As the cliff retreats and the wave-cut
platform becomes wider, the erosional
power of the waves decreases. This is be-
cause the breaking waves strike the
wave-cut platform first and this causes fric-
tion with the waves and reduces their ener-
gy. Cliffs may be worn down by non-marine
processes. Mass movements (slumping,
landslides) and weathering (freeze-thaw)
continue the wearing down of cliffs when
the marine processes have become virtual-
ly ineffective.

Topic2:
Landform developmentin
akarst (limestone) region

This topic has been asked in 2007, 2008,
2010 and 2012.

Typical question

Karstlandscapes:

With reference to the Irish landscape, ex-
amine the processes which have influ-
enced the development of any landform in
akarstregion. (30 marks)

Typicalmarking scheme

M Named process: two marks.

M Diagram: two marks.

M Explanation: 13 SRPs.

M Credit extra relevant information on la-
belled diagram for 2 SRPs.

M Diagram without labelling: zero marks.
M Example not tied to Ireland.

I Allow one SRP for an example of a karst
region from examination.

M All further processes require examina-
tion.

B Two SRPs for description of limestone
pavement when thatis all that is given.

SOFT ROCK

/ERODED

Waterfall formation

Notch grows: undercutting
causes cliff to form

Notch formed

CLiff formation

Wave-built terrace
is formed from
minerals eroded
from cliff face.

WATERFALL

PLUNGE

/ POOL

Cliff lowered
y weathering

Erosion lessened
in shallow water

Sample answer
Landform: Limestone pavement near
Black Head in the Burren, Co Clare.
Formation: A limestone pavement is a flat
area of exposed limestone. In a limestone
pavement, the joints at the surface have
been widened to form grikes and the
flat-topped blocks of limestone between
the grikes are called clints.

The formation of limestone pavements

Above left: forma-

began during the last ice age when moving

tion of a limestone glaciers abraded the surface layers of the

pavement; above
right: limestone
pavement in the
Burren, Co Clare

limestone. The weight and power of the gla-
ciers removed the soil layers that lay over
the limestone, thus leaving level layers of
limestone.

Much of the soil layer was never re-
placed, though some boulder clay (glacial
deposition) was deposited as the glaciers
melted and encouraged the growth of

some vegetation. Most of the limestone was
exposed to weathering elements and the
general characteristics of the limestone
helped the weathering processes. Lime-
stoneis asedimentaryrock composed main-
ly of soluble calcium carbonate which is the
cementing agent of limestone.

Limestone is a hard sedimentary rock
laid down in thick beds separated by almost
horizontal planes, with joints at right an-
gles. Itis pervious but not porous, meaning
that water can pass along the bedding
planes and down the joints but not through
the rockitself.

Limestone is chemically weathered by
the process of carbonation. Carbonation oc-
curs because rainwater passing through
the atmosphere picks up small amounts of
carbon dioxide (carbon dioxide makes up
0.04 per cent of the atmosphere). Rainwa-
ter and carbon dioxide combine to form a
weak carbonic acid. The major mineral in
limestone is calcium carbonate and, as the
calcium carbonate is soluble, the weak car-
bonic acid slowly dissolves the calcium car-
bonate. The calcium carbonate is the ce-
menting mineral and asit dissolves the lime-
stone disintegrates. The soluble calcium bi-
carbonate is removed in solution.

The process occurs along the vertical
joints and bedding planes as they are pervi-
ous, unlike the rest of the limestone. The
joints are slowly widened to form grikes.
The carbonation process is very slow but it
can be helped by other processes, especial-
ly the process of humification. Humifica-

When water freezes it
expands by nine per
cent of its volume...
it widens the grikes

tion occurs when vegetation which had
grown in small particles of soil, died and rot-
ted.

The dead vegetation is called humus
and the humus contains carbon dioxide
which the plants had absorbed from the at-
mosphere. So, the rainwater passing
through the humus absorbs the carbon di-
oxide and becomes a humic acid which
speeds up the dissolving of the calcium car-
bonate.

In winter the joints can also be widened
by the physical weathering process of
freeze-thaw. This process occurs when rain-
water lodges in the grike during the day. If
the temperature falls to zero, the water will
freeze. When water freezes it expands by
nine per cent of itsvolume and as it expands
itexerts pressure and widens the grikes.

Human activities can also increase the
rate of carbonation. Removing vegetation
or burning fossil fuels (coal, oil) increase
the amount of carbon dioxide in the atmos-
phere thus increasing the strength of the
carbonicacid.

Improve your Geography grade

The Institute of Education
79-85 Lower Leeson Street, Dublin 2

Experience great teaching and get exam-focused, expert notes
at our Leaving Cert Easter Intensive Revision Course
from Monday, April 14 to Friday, April 18, 2014.

Book online at ioe.ie, call 01 661 3511 or email info@ioe.ie.

BOOK
EARLY

& Save up to

€100

Ot o
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Humaninteraction with therock cycle
o o
The origins of

Topic3:
Human interaction with
therockcycle

This topic has been asked in 2006, 2007,
2009, 2010, 2011 and 2013.

Typical question

Explain, with reference to one humaninter-
action with the rock cycle, that you have
studied, how humans benefit economically
from this interaction.

(30 marks)

Typical marking scheme

M Interaction identified: two marks

M Example: two marks

M Economic benefitidentified: two marks
M Discussion: 12Significant Relevant
Points (SRPs)

M Give credit for one SRP for a second ex-
ample for discussion.

M Give credit for one SRP for a second eco-
nomic benefit from discussion.

M All other economic benefits must be dis-
cussed to gain SRPs.

M Questionisnot tied to Ireland

M Credit relevant diagrams with extra in-
formation.

Sample answer: Oil and natural gas explo-
rationinlreland

Natural petroleum occurs in the form of oil
and natural gas and it consists of a mixture
of hydrocarbons plus amounts of sulphur,
nitrogen and oxygen. Oil and natural gas
are the main energy sources used in the
world today.

Oil and natural gas are formed as a re-

sult of the partial decomposition of marine
organisms (algae) that have been deposited
on the sea floor where they have been cut
off from oxygen.The algae are decomposed
by bacteria to form an organic mud which,
when buried and subjected to heatand pres-
sure, produces oil and natural gas.
The oil and gas is then squeezed out of the
source rock by the pressure of overlying
rocks and they move upwards and lie in a
suitable reservoir rock. Oil reservoir rocks
must be both porous and permeable. To
contain the oil and gas, the reservoirs must
be sealed by an impermeable cap rock. Im-
permeable cap rocks are known as traps
and theyinclude anticlines and salt domes.

How to get your Al

Initial explorations for oil and natural
gas are done in known sedimentary rock
formations that might have anticline or salt

dome traps. Drilling of exploratory wells £

then confirms the presence and amounts of
the oil or gas present.

All known Irish sources of natural gas §

are offshore and they include the Kinsale

gasfield (discoveredin 1971) and the Corrib | :

gasfield (not yetin production).

An Bord Gais controls distribution of
natural gasin Ireland. Distribution by pipe- [}

lineis to both domestic and commercial cus-
tomers and by 2014 most of Ireland’s major

urban areas will be connected. The supply |

of gas from the Kinsale area has decreased
greatly and, to meet the demand, an inter-
connecting submarine pipeline to Scot-
land, which connects Ireland to supplies in
the North Sea, has been constructed.

In the near future the Corrib Gas Field |

will supply most of Ireland’s natural gas de-
mands but there has been great concern
over both the location of the on-shore pro-
duction terminal at Bellanaboy, Co Mayo,
and the route and depth of the proposed
pipeline in North Mayo.

The Corrib gas field will bring economic

benefits to Ireland as this country imports
nearly 90 per cent of energy requirements,
so a local source of energy will reduce Ire-
land’s imports and increase the trade sur-
plus.

Due to economic recession, Ireland’s
GDP (Gross Domestic Product) has fallen
between 2008 and 2012. The finance from
natural gas will increase GDP by over three
billion euro in the next 20 years.

The impact of natural gas directly on
employment is limited. Approximately
1000 jobs were created during construc-
tion of the pipeline and the processing
plant but these were only temporary jobs.
About 200 jobs will be created for pipeline
maintenance and at the processing plant,
and these jobs should last for 20 years.

The tax benefits to the Irish govern-
ment will be relatively low as the tax rate on
profits had to be set at a low level because
there has been a low success rate for find-
ing natural gas off the Irish coast compared
to other European countries, eg Norway.

Above: Aerial view of the Sedco 711
drilling rig which is being employed in
the Corrib gas field; left: exploration to
discovery ratio table
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B ConorO’Donnell

B ucb

M Businessand Law

M OntheElite Ad AstraAcademy
Scholarshipfor soccerin UCD

Inan efforttoget high Leaving Cert
grades, the majority of students
generally pursue one of the following
two policies: work hard or work
smart. The formeris commonly
associated with ayear of misery,
lockedinthe confines of your room
meticulously pouring over every
iteration of every question asked for
the past20years. The latter usually
strikesanimage of aresourceful
studentwho has managed to procure
the study notes of some mysterious

eightAlslastyear
andplansto
absorbita
marathonthree
daycramming
sessionjustbefore
theexam.
Inreality, successin higher level
Leaving Certgeography, orany other
subjectfor that matter, means you
havetowork hard and work smart.

Bythisldon’tmeantryingto
somehow combine the two extremes
mentioned above butratherthe
recognitionthatgettingan Al
requires both a strong and consistent
work ethicand the ability to use your
time effectively through forward
planning and prioritisation.

During my finalyear studying for
the Leaving Cert, Iwas alsotraining

though this initially seemed like
something that might negatively
effectmygrades, | quickly cameto
realisethesetime and work pres-
sures taughtme somevaluable
lessons, which hopefully youtoo can
apply.

Fromthe outset, itisimperative
thatyou pay close attentionto what
yourteachers sayinclass. Your
teachers should be considered as
your greatestresource because they
possess awealth of both knowledge
and experience and can therefore
offer greatadvice for exams. My
teacher was Jim Carberry,and much
of my successingeographyis
attributable tothe helpthathe gave
me. Students should notfeelreluc-
tanttoraise questions and seek
advicefromtheirteachers, whose

(SeeTable) Wells Commercial .
There has been an increase in de- Drilled Discoveries Ratio
mand for exploration licenses for oil and :
natural gasin 2013 but as yet noviable, com- | _Norway 450 50 19
mercial oilfield has been discovered. Ireland 125 4 1:31
geniuswhogot withUCD every second day. Al- assistance can make all the differ-

ence.
Itisimportantto getalotof work
done before Christmas, as this will
giveyoua strong foundationto build
upon. Planning ahead, and keeping
your notes organised from day one,
will save yousomuchtimeinthelong
term.Cramming will notworkin
geographybecausethereistoo
muchtolearninsuchashortperiod
oftime. Whenyou studyregularly,
theinformation will stick,and when it
comes toJune, youwill find it easier
towrite downthe answers.
Althoughreading over the notes
isessentialtoyour success, itis
importantnottobe blinkered by the
information thatyou have memo-
rised. A simple way to protectagainst
thisistodevelop athoroughunder-
standing of the exam paper. Familiar-

ise yourselfwith pastexam papers,
andidentify questions and themes
whichappearregularlyinarecurring
pattern. ltisimportantthatyouread
allthe questions very carefully and
thinkaboutwhatthe examineris
asking you. Once again, your teach-
ersareagreatassetthatcanhelpto
clarify this for you.

Lastly, itisimportantthatyoutake
regular breaks. Gofor awalk or meet
up with friends. Training for UCD
meantthat|wasforcedtotake
regularbreaksto getfreshair. Being
physically active also helps by
increasingyour energy levels and
serves to break up the monotony of
studying, making the task muchless
arduous. Inthis way, mytraining
commitments were not detrimental
tomy examresults butwereinfact
keytomy success.
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Regional geography

Alook at the meteorological characteristicsthat  guamTIMES

distinguish the Mediterranean and Ireland’s west

Core unit 2
Regional geography

M Therearethree questions asked.
B Youmustanswer one question.
M Eachquestionis worth 80 marks.
M Timing: 35 minutes.
M The questions will be divided into
three parts:
—Part A: 20 marks: nine minutes
—PartB: 30 marks: 13 minutes
—PartC: 30 marks: 13 minutes

Topicl:
Conceptofaregion

This topic was asked in 2006, 2007, 2010,
2011, 2012 and 2013. The use of culture in
defining region was asked in 2006 and
2010.

Typical question

Examine, with reference to examples that
you have studied, how the physical land-
scape can be used to define regions.

(30 marks)

Typical marking scheme

B Named specific locations: two sets of
two marks.

M Examination: SRPs.

Sample answer

Aregionisanareawhich hasa certain char-
acteristic or set of characteristics which
separate or divide it from adjoining neigh-
bouring areas. A region is different from all
theareas around it.

A climatic region, like the Mediterrane-
an climatic region, is an area that is recog-
nised to have distinct and regular weather
patterns over a long period of time. The
temperatures, precipitation, wind systems
and seasons of the Mediterranean climatic
region make it completely different from
allits neighbouring regions.

The Mediterranean climate is also
known as a warm temperate oceanic cli-

mate and it occurs along the Mediterrane-
an Sea area (eastern Spain, southeast
France, southern Italy). Generally the cli-
mate is noted for hot, dry summers and
warm wet winters, egMalaga in southern
Spain.

While this climatic region has weather
differences due to its great width, average
maximum temperatures are around 28°C
in August and average minimum tempera-
tures are around 12°C in January. This
gives an annual range of temperature of
16°C.

Precipitation (usually rainfall) varies
also but average amounts are around
470mm per year with the most rainfall
(80mm) in January. July is the driest
month with less than 2mm of precipitation
onaverage.

The reasons for the climatic conditions
include the influence of the sea which has a
cooling effectin summer and a warming in-
fluence in winter and the latitude (around
40°N) which means that the sun is general-
ly high in the sky giving warm tempera-
tures with low cloud cover.

However, the main influences on the cli-
mate are the changes in atmospheric pres-
sure and wind directions between summer
and winter. During the summer months
the land region is influenced by the Azores
high pressure belt and there is lower pres-
sure over the sea.

The prevailing winds are warm north-
east trade winds blowing from the land to
the sea. They are warm and dry winds caus-
ing cloudless skies, no rainfall and warm
sunshine. During winter the reverse oc-
curs. Higher pressure develops over the
sea and the wind blows from the sea to the
land and brings in depressions from the At-
lantic Ocean.

The winds blow from the southwest and
warm and cold fronts from the depressions
lower the temperatures and bring rainfall.
This type of rainfall is called frontal but,
where there are mountains near the coast,
relief rainfall occurs for example in the Ap-
ennine of southern Italy.

Variations in rainfall types and
amounts can occur. In summer very high
temperatures occur and these cause high
evaporationrates over the sea. This creates

ONLINE
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convectional rain systems with torrential
rainfall and thunderstorms. Sometimes
40mm of rain can fallin just a few hours.

The mountains can also influence rain-
fall amounts. In southern Italy, rainfall
amounts can vary from 900mm per year
on the exposed western side of the moun-
tains to as low as 300mm per year on the
eastern side because it is in the “rain shad-
ow” of the Apennines.

The Mediterranean region is also noted
for its local winds which can bring large
changes in temperatures very quickly. The
Sirocco, a hot dry wind, blows from the Sa-
hara Desert and can raise temperatures to
over 40°C. The Mistral, a cold dry wind,
blowing from the Alps down the Rhone val-
ley in France can lower the temperatures
by15°C inaday.

Topic2:
Primary activitiesand agri-

() (] L]
cultureinanirishregion
This topic was asked in 2007, 2008, 2009
and 2011.

Typical question

Describe and explain any two physical fac-
tors that have influenced the development
of agriculture in an Irish region that you
have studied.

(30 marks)

Typical marking scheme
M Factorsnamed: two sets of two marks.
M Discussion: 13 SRPs

Sampleanswer: Twofactors affecting agri-
culture
M Factor one: Soils
Despite many physical and economic diffi-
culties agricultureis the major primary eco-
nomic activity in the western region of Ire-
land (Galway, Mayo and Roscommon).
Many farms are located in the region but
farm sizes are often small, income levels
are generally below the national average
(about 60 per cent of the national average)
and only about 15 per cent of the farms can
be considered to be economically viable.
Much of the region has steep, rugged
upland areas and many of the mountain
ranges have been glacially eroded with the
soils scraped away. Some areas, for exam-
ple northeast Mayo, have areas of glacially
deposited boulder clay soils so the soils
vary greatly in the region.

The soils that remain in the upland are-
as, especially in Connemara, are composed
of poor peat soils. These soils are not suita-
ble for agriculture as they have a mineral
hard-pan and are poorly drained resulting
in podzol soils.

The soils in the lowland areas are often
from glacial deposition (boulder clay) and,
astheyare heavy clay soils, they absorb and
retain water and become waterlogged.
They are not suitable for cereal growing.
Due to heavy rainfall leaching of minerals
in the soil occurs further reducing the soil’s
fertility and suitability for cereal growing.

The limestone bedrock in parts of East
Galway means that the soils are often thin
and, due to the joints in the limestone, wa-
ter seeps down the soils in summer. This
lack of water reduces grass growth and
makes dairy farming difficult.

The heavy boulder clay soils of north-
east Mayo, which receive heavy rainfall,
are most suitable for grass growth in thisre-
gion and so beef cattle and dairying are the
main agricultural enterprises in the area.

The soils vary in some parts of east Gal-
way as the shallow brown earth and grey
soils are fertile and allow for good grass
growth for sheep rearing. The rivers Shan-
non and Suck often flood in this part of the
region and provide fertile alluvial soils for
pastoral farming.

M Factor 2: Climate

Agriculture in the western region is greatly
influenced by the climate there. The cli-
mate of the region is a cool temperate cli-
mate greatly influenced by the sea. Precipi-
tation is high (often around 2,000 mms per
year) and occursin all months of the year.

The main influences
on the climate are the
changes in atmospher-

ic pressure and wind

directions between
summer and winter

Theyear round precipitation in the low-
land areas helps the growth of grass and so
the emphasisis on the rearing of beef cattle
and sheep, especially in east Galway.

Dairy farming is not widespread and is
undertaken mainly in northeast Mayo as
the milder climate allows for grass growth
for most of the year and facilitates the out-
door grazing of the dairy cows. The winter
temperatures average over 5°C due to
warming influence of the North Atlantic
Drift.

Average temperatures range from 5°C
in January to 15°C in July and average daily
sunshine hours are low—usually about four
hours per day on average. The low average
temperatures and low sunshine amounts
mean that arable farming is restricted as
crop ripening takes a long time and there is
a low yield per hectare compared to the
eastand south of Ireland.

The westernregion is exposed to strong
prevailing south-westerly winds and these
winds bring frontal depressions from the
Atlantic Ocean and result in high amounts
of rainfall. The winds and high rainfall re-
strict the growth of cereals such as wheat
and barley as they cannot flourish in these
conditions. The low temperatures, high
rainfall and strong winds mean mean that
the cereals that do grow are of low quality.
Less than one per cent of the national
wheat cropis grown in the region.

Due to the difficult physical conditions,
small farms and under-investment only a
minority of farmers make a moderate in-
come from farming alone. Many farmers in
this region are dependent on off-farm in-
come such as tourism and construction to
supplement their farming incomes.
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The Mezzogiorno

Climates for
growth

Examining the primary activities of southern
Italy and the tourism sector in modern India

Topic3:
Economic activities in a
Europeanregion

This topic was asked in 2006, 2008 and
2012.

Typical question

Examine the factors that influence the de-
velopment of one economic activityin a Eu-
ropean region (not Ireland) that you have
studied.

(30 marks)

Typicalmarking scheme

M Named economic activity: two marks.
M Examination: 14 SRPs available (two
marks each).

Sample answer: Mezzogiorno

M Region: Messogiorno (southern Italy)
M Economic Activity: Agriculture (prima-
ry activity)

M Factor 1: Climate

The Mezzogiorno has a Mediterranean
type climate with mild wet winters, and
hot, dry sunny summers. With average
summer temperatures around 30°C and
spring/autumn around 22°C there is along
growing season suitable for a wide range of
Crops.

With little rainfall in summer most of
the crops grown can resist summer
drought (olives) or are grown in winter to
make use of the rainfall (winter wheat).
Winter wheat thrives in the moist mild win-
ter and is harvested in the ideal conditions
ofhot, sunnyweatherin early summerinar-
eas such as the Plain of Campania.

Tree crops such as olives are suited to
the climate because their roots extend
downwards to the water table, giving
enough water for a yearly crop. Olive trees
are usually widely spaced so as to reduce
competition for water during the dry sea-
son, particularly in Sicily.

The climate allows for the growth of cit-
rus fruits (oranges) as their thick skins can
preserve moisture in the dry season. The
highest temperatures and the highest evap-
oration rates coincide with the time of least
rainfall (drought) in summer so fruit must
have protection to survive.

Under the Cassa scheme, soils of the re-
gionthat were water-logged during the win-
ter due to heavy rain were drained and
those very dry in summer due to drought
were irrigated. High value vines, citrus
fruits and vegetables are now grown, for ex-
amplein the Metapontino region along the
Gulf of Taranto.

Pastoral farming (rearing of sheep and
goats) mainly takes place on the lower
slopes of the Apennine Mountains where
the climate is cooler due to the higher alti-
tude. In the past, over-grazing often result-
ed in soil erosion but greater care in now
taken and allows grass growth adapted to
the climate.

Drought is still a serious problem in the
region as it leads to soil erosion when the
soil dries up and vegetation doesn’t grow.
The winds blow the loose soil away. When
flash flooding occurs the loose soil is swept
downbhill.

M Factor 2: Financial help from the Italian

Government and the EU.

For centuries there had been little finan-
cialinvestmentin agriculture in the Mezzo-
giorno.In1950, the Italian Government set
up the Cassa per il Mezzogiorno to develop
farming in the region. From 1950 to 1984
great changes took place because of the in-
vestment.

Massive irrigation schemes were com-
pleted (Apulian aqueduct) and provided
water during the summer drought. This al-
lowed increased productivity and a wider

High value vines,
citrus fruits and
vegetables are now
grown, for example in
the Metapontino
region along the Gulf
of Taranto

range of crops to be grown (almonds,
pears).

Coastal swamps were drained and
sprayed with insecticides to kill mosqui-
toes. Fertilisers were added to increase fer-
tility. The prevention of soil erosion was un-
dertaken with the afforestation of upland
areas.

Funds were provided to educate farm-
ers, increase the use of machinery and con-
structbetter storage facilities on farms. Ag-
ricultural education and the development
of co-operatives were undertaken to en-
sure the viability of commercial farming.

Improved transport (autostrada, elec-
tric railways) was developed to give access
to large wealthy markets in northern Italy
and Germany. Due to the early ripening of

salad crops and citrus fruits, fast access to
the markets has improved profits for farm-
erswho can now supply markets when pric-
esare high in early spring.

The development of the Common Agri-
cultural Policy (CAP) of the EU meant that

Achieving success in the geography paper

farmers were given guaranteed markets
and guaranteed prices for their products.
This greatly encouraged production of
cash crops, eg vines, citrus fruits and maize.

Due to increased funding from the EU
there was a huge increase in the produc-

Planyour study

I Take control of your study as your
success canbeassistedbyan
organised approach. Don’tblame
anyoneelse. You should know what
isinvolved. Getthe past papersand
study the structure of the exam.

I Atleast 80 percentofyourtime
asastudentwill be spenton private
study soitis essential for youto
acquire the skills which enable you
towork effectively.

Establish

M Planreasonabletargets which
youcanachievein each study
session, egwritingout15 SRPs on
your selected topic.

Focusonessentials
Trytofocus on examination topics

thatcome up everyyear. Some of
thesetopicsare:

M Coreunit1: landform develop-
ment; plate tectonics; human
interaction.

M Coreunit2: economicactivitiesin
anlrishregion; economicactivitiesin
aEuropean region; economic
activitiesina continental/sub-conti-
nentalregion.

B Economicelective:impactof EU
policies onIreland; multinational
companies.

Selectkeywords and phrases

B Whenyoureadyournotesona
topic, selectthe keywords or
phrases which willhelpyouto
rememberwhatthetopicis about.
B Make atopic summary by placing
the coretheme ortopictitleinthe

centrethendrawlinesfromthe
centre and write sub-themes atthe
end ofthe lines. Along each line write
the key words or phrases linked to
the sub-theme

Practiseskills and techniques

B Thefirst partof most questions
requires the drawing of sketch
maps, graphs or reading statistics.
These cannotbe learned by merely
seeing examples or reading about
them:itis essential to practise
drawing sketch maps, etc.

Preparearevision programme

M Listthe topicsthatare examined.
M Gothroughthe listand identify
whichtopics youfeel the need to
concentrateon.

M Don'tspendvaluabletime onthe

topicsyoualready knowand cando.
Itmakes youfeel good butdoes not
moveyou forward.

M Coverallthe majortopics—don’t
trytopredict what willbe examined.
M Don'tneglect section 1 (the short
guestions). Attemptall the past
papersinthis sectionand practise
therequired skills,eg mapreading,
reading weather maps, etc.

M Inrecentyearsthe shortques-
tions have required more informa-
tionto obtainfullmarks.

B Some ofthe questionsinsection1
willcome from core unit1 (physical
environment) and core unit2
(regional geography) so a detailed of
thesemodulesisrequired.

Revision techniques
M Practise answering examination
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TourisminIndia

tion of certain crops in the Mezzogiorno
and other Mediterranean areas, for exam-
ple Greece. This has led to the seasonal
overproduction of grapes, olives and citrus
fruits and has led to a fall in prices for the
farmers of the region.

guestions from past papers. Time
yourselfand seeif youcanwritean
answer in the time which the examina-
tionwillallowyou.

I Remember thatthe 30 mark parts of
the question should have 15 SRPs (no
more).

B Askyourteacherto correctyour work
orcheckityourselfusing your class
notes

Answering questions

A proper analysis of each questionasked
isessential. You need to think about what
youare askedtodo. Getahighlighter pen
and clearly mark the key instructions. In
geographical questions the usual key
wordsare:

I Accountfor—explainand giverea-
sons.

B Compare - pointout similarities and

Clockwise from above: the Golden
Temple at Amritsar, a Mediterranean
vineyard, a woman wearing traditional
Rajasthan dress

differences.

M Contrast—look atthe maindifferences.
M Describe - state the obvious.

I Explain—write outthe key points and
write an explanation.

When answering questions remember to
giveenough detail

M Proper geographical
information/wordsto develop the point
properly. Do notrepeatthe sameinforma-
tioninanother point

M Givetherightamount of attentionto
eachandevery partofastructured
question. Thereis alimitto the number of
marksyoucan gain notonly fromthe
whole question, butfrom each partof it.
Give the examiner exactly whatis asked
forand no more. The number of marks
allocated to each partwill be shownin
brackets onthe examination paper.

Topic 4:
Economic activities in a
continental/

L] L]
sub-continentalregion
This topic was asked in 2007, 2009, 2010
and 2013

Typical question

Account for the development of one ter-
tiary activity in any one continental /
sub-continental region that you have stud-
ied.

(30 marks)

Typical marking scheme

M Tertiary activity named: two marks.
M Examination: 14 SRPs

available at two marks each.

Sampleanswer

India’s international tourist numbers have
increased from 2.5 million in 2001 to over
five million in 2012. Tourism has increased
employment and foreign earnings. With
therapid development of the Indian econo-
my (expected to be the world’s third largest
economy after China and US in the next 20
years) there has been a huge increase in lo-
cal tourist numbers as millions of Indians
have had great increases in personal in-
comes.

There are many varied attractions, phy-
sical and cultural in India. The Himalayas
attract mountain climbers and hill walkers
insummer months and skiers in winter. De-
spite recent problems of exploitation, the
Himalayan region is generally unspoilt and
the lower slopes have jungle safariregions.

The Indian coastline is over 5,000
miles long and there are many excellent
beaches, especially in Goa and Kerala. The
Andaman and Nicobar islands have a tropi-
callandscape and climate and are major at-
tractions for European visitors.

The development of generally unspoilt
national parks (Corbett National Park, Nan-
da Devi National Park in the Himalayas)
has attracted eco-tourists to India. The na-
tional park developments are major at-
tempts to retain the varied ecosystems of
India and also bring employment to isolat-
edregions.

There are large numbers of cultural at-
tractionsin India with reminders of civiliza-
tions stretching back 5,000 years to the In-
dus valley civilisations.Fantastic architec-
ture and many temples such as Taj Mahal,
the Golden Temple of Amritsar and the
Buddhist Murals of Ajanta are world fa-
mous and attract millions of tourist.

With hundreds of millions of Hindus liv-
ing in India, the Ganges, one of India’s
mostsacred rivers, isa major touristattrac-
tion. Spiritually Hindus believe that when
they dip in the Ganges all their sins are ab-
solved so millions visit the cities along the
river every year.

There are other varied attractions for
both Indian and foreign tourists - tea plan-
tations in Assam, Jain Temples, British Co-
lonial heritage such as the Victoria Memori-
alatKolkata. Many Indian migrants alsore-
turn to India for holidays, especially from
Britain.

There have been great improvements
in the transport infrastructure for tourist
development in recent years. The first rail-
way system was builtin Indiain 1853 and In-
dia has the fourth most used system in the
world. With over10,000 trains running dai-
ly all the major tourist attractions are
linked by rail, even into the foothills of the
Himalayan Mountains.

The railway system is operated by the
state owned company Indian Railways.
Over 1.6 million people are employed and it
is estimated that 50,000 are employed di-
rectly in tourist transport. The provision of
high class rail facilities for tourists is one to
the profitable aspects of Indian rail

In the last 20 years there have been
great improvements in road transport and
now nearly all the major tourist regions are

linked by 32,000 miles of national roads.
Traffic congestion often causes problems
in tourist centres such as Mumbai and the
TajMahal butrecent developments have in-
creased tourismin Goa and Kerala

The development of air transport is of
vitalimportance to India’s tourism. The ma-

There Al'@ jorair hubsareat Delhi, Mumbai, Chennai

and Kolkata. India has benefited from im-

lal'ge provements in cheaper long-distance trav-

el so it is suited to tourists from Europe,

numbers who can use Air France and British Air-

of lines, and the Far East where JAL flies to In-

dia. With 115 domestic airports all the ma-

cuttural j%r tot(lirist attractions are accessible by
cheap domestic airports.

a.ttraC' Inland waterways are not well-devel-

H H oped for tourism despite the importance of

tlons. in rivers to Indian culture, as seen in the exam-

Ind|a ple of the Ganges. There are 12 major and

180 minor ports along India’s long coast-
line so ferry services for tourism are improv-
ing especially at Mumbai. There are regu-
lar links to the Andaman and Nicobar Is-
lands.

There have been greatimprovementsin
accommodation facilities in recent years to
meet the growing demands of increased
tourist numbers and levels of international
standards of facilities. Accommodation var-
ies from modern western-style deluxe ho-
tels to grand old palaces to budget tourist
hotels and hostels.

Accommodation prices vary depending
of the quality of services and location. Luxu-
ry hotels, health spas and heritage hotels
are expensive but prices vary with the sea-
son and are usually cheaper during the off
season from April to September (wet sea-
son). Many low budget hotels and hostels
have been built to accommodate many
young backpacking tourists.

The French Oral exam
is worth 25% of your
Leaving Cert grade

Learn from and practice with
Corinne Gavenda who will be
teaching on our Leaving Cert 2014
French Oral Preparation Course

in March.

Book online at ioe.ie,
call 01 661 3511, or
email info@ioe.ie.

The Institute of Education
79-85 Lower Leeson Street, Dublin 2
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Colonial consequences and
agricultural advancements

A choice is given in the electives so you can
focus on the modules that engage you the most

Electives

M Thereisachoiceinthis section. There are two electives and you must answer one

questiononly fromeither:

Patterns and processesin economic activities

or

Patterns and processesinthe human environment

M Eachquestionis worth 80 marks.
M Timing: 35 minutes.

M The questions will be divided into three parts:

—PartA:20marks 9minutes
—PartB:30marks 13minutes
—PartC:30marks 13minutes

M Topics from patterns and processes in economic activities are explored here.

Topicl:
Theimpact of colonialism

(] L]
and globalisation
This topic has been asked in 2006, 2008,
2009, 2010, 2011, 2012 and 2013.

Typical question

Examine the impact of colonialism on the
economy of a developing country that you
have studied.

(30 marks)

Typical marking scheme

B Tmpactidentified: two marks.

B Named developing country: two marks.
M Examination: 13 SRPs available.

M Discussion without reference to coloni-
alism will get a maximum of two SRPs.

M Discussion without reference to named

developing country will get a maximum of
two SRPs.

M Credit for two further impacts identi-
fied as SRPs from examination.

Sampleanswer

Colonialism had a majorinfluence in chang-
ing the patterns of world trade and world
economic development. Colonialism
meant thata dominant-dependentrelation-
ship developed between the conquerors
and their colonies and this was clearly seen
in the relationship between Britain (coloni-
al power) and India (the colony) between
1750 and 1947.

The function of the colony was to serve
the economy of the ruling country. India
had to export cheap primary products to
Britain. The colonies supplied cheap food
products (tea, coffee, sugar) and raw mate-
rials (cotton, timber). Around 90 per cent
of India’s exports went to Britain.

The Gateway of
India: the monu-
ment was built in
Mumbai during
the British Raj;
below: Sam
0’Connor at the
Institute of
Education
Photograph:
Brendan Duffy
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The colonies became markets for the
manufactured goods of the ruling country
and India became Britain’s largest market.
Control of the increasing trade patterns in-
creased the wealth and political impor-
tance of the colonial power - this was the
policy of mercantilism and over 50 per cent
of British exports went to India.

Little extra employment was created in
the colonies where the most fertile land
was used for the growth of export crops.
Large plantations based on large-scale op-
erations saw land removed from growing
food for local consumption and used for
commercial crops for export.

In the colonies, transport networks
were established to ensure efficient move-
ment of primary products to ports for ex-
port, eg rail connections to the ports of
Mumbai, Madras and Kolkata in India.
While these three key ports were devel-
oped, most of the rest of India’s transport
network was left underdeveloped.

Up to the 1800s, India had many impor-
tant craft manufacturing industries, eg the
textile industry, and had the advantages of
local raw materials (cotton), cheap labour
and a huge home market. Deliberate policy

taxed the local producers out of the mar-
kets.

Manufacturing industry in the colony
was deliberately run down to enable prod-
ucts from the colonial power to dominate
the markets. India’s share of world manu-
facturing output declined from 18 per cent
in1830 to one per centin 1913.

Colonialism meant that India’s trading
patterns were completely changed. Most
exports went to Britain or British colonies
and Britain controlled the imports into In-
dia, especially of manufactured goods.
Colonialism also helped to further divide In-
dia into a society with a rich powerful land
owning group and a poor, landless group of
workers. Taxes on the large Indian popula-
tion brought great wealth to Britain. India
became the major source of taxation help-
ing Britain to dominate world trade.

After gaining its political independence
in 1947, India had to build an economy
from a poor economic base that it had in-
herited from colonialism. India tried to
buildupitshomeindustries by a protection-

The colonies be-
came markets for the
manufactured goods
of the ruling count
and India became Brit-
ain’s largest market

ist policy which restricted imports by set-
ting tariffs (import taxes) whichraised the
price ofimported goods, quotas (control on
the amount of imports imported) to reduce
competition and embargoes (complete
bans on some imported products).

From 1947 to 1990, India needed the
policy of protection as it was receiving low
prices for its primary products on the
world markets and was still dependent on
Britain. It was partially successful due to its
huge home market and large amounts of
raw materials. So food processing, textiles
and engineering increased.

However, through the partial failure of
their “Five Year Economic Plans” the gov-
ernment changed its strategies. Borrowing
increased but the Indian government did
not “over-borrow” and there is no debt cri-
sis. India borrowed about 84 billion dollars
but thisis only 82 dollars per person.

The era of globalisation brought many
multinational corporations (MNCs) to In-
dia from 1990 due to low labour costs, an ed-
ucated workforce, a large local market
(1.1 billion people) and low tax rates. Many
high tech products are now produced in
India’s “silicon valley” in Bangalore. There
hasbeen a huge increase in exports and In-
dia is now classified as a Newly Industrial-
ised Country (NIC).

Increased production in manufactur-
ing industry (eg textiles and clothing) has
meant that India no longer depends on the
exports of cheap, primary products. India
now has the third largest economic output
in Asia, after Japan and China. Economic
growth has averaged six per cent in the
pasttwo years.

Improving your grade in geography

M Planyour study.

M Prepare adetailedrevision pro-
gramme.

M Whenyou practise answering
questionsand whenyou are sitting the
examinationthere are two key wordsto
concentrate on: reading and time.

M Soplanyourtime for each question
andreadthe questions carefully and
give enoughdetail.

M Apply your knowledge by giving
relevantanswers, state precise exam-
ples and make clear decisionsin
questions that contain key words like
“discuss” and “accountfor”.
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Topic2:
Theimpact of one EU
policyonlireland

This topic has been asked every year be-
tween 2006 and 2013.

Typical question

Examine how any one major policy of the
European Union has influenced Ireland’s
economic development.

(30 marks)

Typicalmarking scheme

M Major European policy named: two
marks.

M Influence on Ireland’s economic devel-
opment: two marks.

M Examination: 13 SRPs available.

B Maximum of two SRPs will be given for
discussion without link to Irish economy.
M Amalgamate all relevant discussion
points.

M If more than one policy discussed mark
both and credit the best

M All further influences require discus-
sion.

Sampleanswer

Since 1973 the European Union’s Common
Agricultural Policy (CAP) has been a major
influencing factor on Irish agriculture. The
CAP was set up in 1962 to provide a decent
standard of living for farmers and to in-
crease food production and quality. There
were two major policy decisions taken to en-
sure that these aims were achieved. The
first major policy was toincrease tariffs (im-
port taxes) on imported agricultural prod-
ucts to protect EU farmers from cheaper
imports and to subsidise exports to other
parts of the world.

The second policy ensured that living
standardsimproved by setting up a guaran-
tee fund to maintain high prices for farm
products and a guidance fund to give
grants for improved machinery and farm
buildings and to encourage larger farm siz-
es.

Irish farmers recognised the impor-
tance of the CAP when Ireland joined the
EUin 1973 as agriculture was a vital sector
of the Irish economy providing over 40 per
cent of the value of Irish exports and nearly
25 per cent of total employment.

The CAP had a huge impact on Irish ag-
riculture. From 1973 there was a massive in-
crease in farm output as the guarantees on
prices and markets became effective. Huge
increases in the amount of cereals pro-
duced and in milk and meat production oc-
curred.

The guaranteed market and prices have
helped to greatly increase the value of Irish
food exports and have helped to increase
the size of Ireland’s surplus balance of
trade. Food exports haverisen from a halfa
billion euro to around €10 billion.

Improved efficiency, higher quality
products, higher prices and improved mar-
kets have increased farm incomes. Aver-
age farm incomes have trebled in the last
30 years. But incomes of the larger and
more efficient farmers have risen ata much
faster rate and many farms are too small to
allow their owners to earn a reasonable in-
come (many farmers have incomes of only
60 per cent of the average industrial wage).

In the Border, Midland and Western
region many farmers would not survive
without income support from the CAP. In
many cases 80 per cent of farmer’s in-
comes come from direct subsidies from the
CAP showing that without it they would
not be competitive.

Irish farming receives €1.25 billion per
yearin direct payments under the CAP and
the economic benefits of this income was
expected to slow down the decline in agri-
cultural production. However, the percent-
age of the Irish workforce employed in agri-
culture has declined from 25 per cent in
1975 toless than 8 per centin 2012.

With improved machinery, better farm
buildings and CAP reforms to improve pro-
ductivity ,the average size of farms has in-
creased from 17 hectares in 1975 to nearly
35 hectares in 2012. Another emphasis of
the CAP has been to improve the quality of
products so farms have become more spe-
cialised and there has been a reduction in
mixed farming.

Many people see the CAP as being too
expensive. In 2007, the CAP represented
37.4 per cent of the total EU budget of €114
billion. Reforms of the CAP in 1992 and
2004 reduced the overall cost of the policy
and, to encourage farmers to produce farm
products to meet market demands and im-
prove the quality of products, a single di-
rect payment of average farmincomeis giv-
ento farmers.

Other changes to income support are
being undertaken in the EU budget for
2014-2020. Overall EU expenditure on the
single farm payment is being reduced and
rebalanced. The EU commission wants to
make a radical change in which the single
farm payment is distributed within mem-
ber states including Ireland. Instead of the
current system where payment is based on
past production, the commission proposes
that the payments will be made on a per hec-
tare basis. Many farming groups believe
that this will favour inactive farmers and
punish productive farmers.

Changes in the CAP have ended sugar
beet production in Ireland. In the world
trade negotiations in Hong Kong in 2005,
the EU agreed that it would eliminate price
supports and subsidies for sugar beet pro-
duction. This cut the price of Irish sugar
beet by 36 per cent and made the growth of
sugar beet uneconomical in Ireland as im-
ported sugar was much cheaper. Irish sug-
ar beet production virtually ended in 2006
and over 3,700 farmers stopped growing
the crop.
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Patterns and processes in the human environment

Topic: Urbanisation
Thistopichas beenaskedin
2006, 2007,2009, 2010,2011
and 2012.

Typical question
“Authoritiesincitiesinthe
developing world have attempt-
edto overcome the problem of
rapidurbangrowth.”

Examine the above statement
withreferencetoanexam-
ple(s) youhave studied.
(30marks)

Typical marking scheme

I Example named: two
marks.

M Examination: 14 SRPs.

M Ifnoreferencetonamed
developing world city/ cities do
notaward example marks.

M Creditsecond named
example as SRPfrom examina-
tion.

M Credittwo SRPsfordescrip-
tion of problems of urban
growthwhenitis allthatis
given.

Sample answer
InBrazilthe population of the
SaoPaulo metropolitanarea
has grown from 8 million
peopletoover17 million
between1970and 2010. The
SaoPaulo metropolitanarea
consists of 39urbanareas
which have joined together and
now formahugeurbanarea.
Thisareais now nearly
90kms wide and over 40kms
long. This rapid expansionin
both populationand size has
broughtmany problems.
The major problems are lack of
formal housing and the growth
of overcrowded favelas, poor
basicliving conditions (lack of
water, poor sewerage), traffic
congestionand pollution.
Inthe early 1900s, Sao
Paulodeveloped aroundthe
Triangulo, the Central Busi-
ness District (CBD) with
housing development extend-
ingalongradial highways with
residential areas becoming
progressively poorer with
distance from the centre. The
extension (sprawl) of the city

occurred between1915and
1940dueto highrates of
naturalincrease andimmigra-
tion.

Industrialisation had ahuge
impactonthe urban structure.
Thefirstindustrial estates
were located onthe southern
bank of the River Tiete butfrom
the 1930s new industrial
estatesdevelopedinthe
southeastof the city. Until the
late 1960s, the city largely
grewunplanned. Huge high
rise apartments were con-
structed nearthe CBD and
favelas developed alongthe
River Tiete as the demand for
housing grew rapidly and
exceeded supply.

Itwas notuntil 1968 thatthe
firstmeaningful attempts to
develop aproper planning
strategywere madeandin
1974 acoordinated administra-
tionand planning systemwas
established. The historic city
centre had amajor problem
with traffic congestion. Over
12,000 vehicles per hour
saturatedthe area. Proper
planning has greatly reduced
the problem asthe trafficnow
runsundergroundin570
metre-longtunnels that
connectthe northernand
southern sections of the city.
Much ofthe city is now pedestri-
anised.

Tothe southwestof the
centre, the three kilometre
long Avenida Paulistahas been
developed as the modern
commercial andfinancial
centre. Skyscrapers have been
builtastherewasahuge
increaseinthe price of land
when banks and multinational
corporations competed for
spaceinthearea.

Expensive apartment
buildings have recently been
builtafew kilometres south-
westofthe central area. Inthis
area,knownasthe Jardins, the
major shopping streets are
alsolocated.

As SaoPaulo’s economy
developed,therewasagreat
demand from large corpora-
tionsfor modernand easily

accessible headquarters. So
the planning authority devel-
opedalargeareainthe south-
westof the city with the World
Trade Centre complexasthe
focal point of the development.
Thehugeincreasesinboth
populationand wealth created
ademandfor serviceindus-
tries and the planning authority
developed 11 major shopping
malls atvarious locations near
theCBD. They are separatedin
distance by 3-4kmstoreduce
traffic congestion.

Trafficis amajor problem
with over six million people
owningcars. Trafficalso
causesover 80 per centof Sao
Paulo’s air pollution so, to
reducethe use of private cars,
thelocalgovernmenthave
built newring-roads, new
metro lines and improved
urbanrail links.

Economicdevelopment,
rising populationandin-
creased wealth have led to
increased consumption of
goodsthatinturnhasledtoa
massiveincreaseinthe
amountof rubbish thatthe city
needstodeal with. With only
two landfill sites, the authori-
ties had amajor problem of
wastedisposal sotwo enor-
mous waste disposalincinera-
tors were built,each burning
7,500tonnes of waste each
day.

Tocombatthe very poor
housing with about 20 per cent
ofthe population livingin
favelas (poor quality housing)
and corticos (overcrowded and
decaying buildings) the
authoritiesintroduced a slum
clearance and redevelopment
programme called the Cingapu-
ra. Theaims wereto provide
new housing, water and
electricity supplies, etcinnew
high-rise buildings. The
fundamental aim of the project
was to keepfamilies residingin
the same geographicarea
instead of relocating to new
ones. Many peopledisliked the
high-rise buildings and so now,
authorities are attempting to
improve existinghomes.



